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No EH HiiE Eam)  BAGADH) %
Y1 KR AF LZH IV 05
Y3 th R AF LY UV 0.6
Y5 AR AF LZH IV 0.6
Y6 th R AF LZH IV 0.6
Y8 th R AF LY FUVYY 0.6
Y15 AR AF LZH IV 0.6
Y4 AR AFA LY FUVUY 0.7
Y7 AR AF LZH IV 0.7
y21 hR ALY IID 0.7
Y2 hR ALY IIY 0.8
Y13 hR ALY IIY 0.8
Y19 hR FA LY IIY 0.8
Y20 hR ALY IIY 0.8
B hR AXIYG 0.9
B18 hR AXIYG 0.9
Y9 hR ALY IIY 0.9
Y10 hR FALTYTIIY 0.9
Y11 hR FALTYTIIY 0.9
Y12 hR FA LY IIY 0.9
Y14 hR A A 0.9
d1 K N2 DAV 0.9
d2 K N2 DAV 0.9
d3 K N2 BV 0.9
d4 K N2 DAV 0.9
d5 K N2 DAV 0.9
d6 K N2 DAV 0.9
d7 K N2 DAV 0.9
d8 K N2 BV 0.9
d9 K N2 DAV 0.9
d10 K N2 DAV 0.9
d11 K N2 DAV 0.9
d12 R N2 DAV 0.9
d13 Bh K N2 DA 0.9
d14 Bh K N2 DAV 0.9
d15 Bh K N2 DA 0.9
d16 Bh K N2 DAV 0.9
d17 Bh K N2 DA D 0.9
d18 Bh K N2 DA 0.9
d19 Bh K N2 DA 0.9
d20 th K N2 DA D 0.9
d21 th K N2 DA D 0.9
d22 th K N R BRI 0.9
d23 th K N2 DA D 0.9
d24 Bh K NI 0.9




05 FHEEHZE

BAR-ARER

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No TR HiiE Eam)  BAGADH) %
d25 R NZEPANP 0.9
d26 R NZEPANP 0.9
d27 R NZEPANP 0.9
d28 R NZEPANP 0.9
d29 R NPEPANP 0.9
d30 R NZEPANP 0.9
d31 R NPEPANP 0.9
d32 R NZEPANP 0.9
d33 A NZEPNP 0.9
d34 R NZEPNP 0.9
d35 R NZEPRNP 0.9
d36 R NZEPNP 0.9
d37 R NZEPNP 0.9
d38 R NZEPNP 0.9
d39 R NZEPNP 0.9
d40 R NZEPNP 0.9
d41 R NZEPRNP 0.9
d42 R NZEPRNP 0.9
d43 R NZEPNP 0.9
d44 R N2 DAV D 0.9
d45 K N2 DAV 0.9
Y17 R AF LZH UV 1.0
Y18 R AH LY UV 1.0
Y22 hR ALY IID 1.0
B60 hR AXIY 1.1
Y16 R AH LY UV 1.1
K1 R HHh 1.2
K2 R YHh 1.2
B56 hR AXIY 1.4
B6 hR AXIY 1.6
B17 hR AXIY 1.6
B19 hR AXIY 1.6
B7 R AXIY 1.7
B8 R AXIY 1.7
B10 R AXIY 1.7
B13 R AXIY 1.7
B84 R AXIY 1.7
B2 R AXIY 1.8
B3 R AXIY 1.8
B4 R AXIY 1.8
B5 R AXIY 1.8
B11 R AXIY 1.8
B15 R AXIY 1.8
B16 R AXIY 1.8
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B57 AR AXIY 1.8
B85 AR AXIY 1.8
s4 thoK v 1.8
B9 B R AR 1.9
B12 thoK AXYY 1.9
B14 thoK AXYY 1.9
B45 AR AXIY 1.9
B55 AR AXIY 1.9
B59 hR AXIY 1.9
B61 hR AXIY 1.9
B63 hR AXIY 1.9
B82 hR AXIY 1.9
B32 hR AXIY 2.0
B33 hR AXIY 2.0
B34 hR AXIY 2.0
B35 hR AXIY 2.0
B36 hR AXIY 2.0
B37 hR AXIY 2.0
B44 hR AXIY 2.0
B51 hR AXIY 2.0
B52 hR AXIY 2.0
B54 hR AXIY 2.0
B58 hR AXIY 2.0
B65 hR AXIY 2.0
pl =R NFERF 38 0.32
B72 hR AXIY 2.0
B77 hR AXIY 2.0
N45 =R IhY 48 0.33
j2 =R YA/ 40 0.36
&1 =R EXTVRY 48 0.40
N55 =R IhY 5.2 0.40
&31 =R EXSVRE 48 0.41
&55 =R EXSVRAYE 5.0 0.55
N46 E=% N TohY 48 0.41
N53 E=% N TohY 5.2 0.41
&53 =R EXSVRAYE 3.0 0.42
£62 =R EXTVRAYE 5.1 0.42
N17 E=% N TohY 40 0.53
N51 E=% N TohY 5.2 0.42
N57 =K TohY 5.2 0.43
1 = A JA(I ) 34 0.44
&61 =R EYSVAL 5.1 0.44
N271 =K TohY 42 0.44
N48 =K TohY 48 0.45
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N27 =mA ohY 5.0 0.47
N43 =mA ohY 48 0.47
N471 =mA ohY 48 0.48
N52 =mA ohY 5.2 0.48
&5 =mA EXTVRE 4.4 0.49
N56 =mA ohY 5.2 0.49
N1 =mA ohY 40 0.50
&35 =mA EXSVAY 48 0.50
&46 = A EXSVRE 5.0 0.50
N50 = ohY 48 0.50
&2 = A EXSVRE 44 0.51
&56 = EXZVRE 3.2 0.51
N39 = A ohY 48 0.51
&12 = A EXSVRE 48 0.52
&63 = EXSVRE 5.1 0.68
N4 = ThY 40 0.52
N44 = A ThY 48 0.52
N59 = A ThY 5.2 0.52
N19 = A ohY 5.1 0.53
n2 =K RV IAES 55 0.53
& =R EXSVRAE 4.4 0.53
N37 =R IhY 48 0.53
N60 =R IhY 5.2 0.53
N2 =R IhY 40 0.54
L6 =R EXSVRAY 4.4 0.54
&40 =R EXSVRAY 5.0 0.54
&47 =R EXSVRAY 5.0 0.54
64 =R EXSVRAY 55 0.54
N54 =R IhY 5.2 0.55
N13 =R IhY 44 0.56
&45 =R EXSVRAY 5.0 0.56
&50 =R EXSVRE 5.0 0.56
&54 =R EXSVRAYE 33 0.56
B83 R AXIY 2.0
B86 R AXIY 2.0
B87 R AXIY 2.0
B88 R AXIY 2.0
E3 R XUEIEA 2.0
E4 R XUEIEA 2.0
E5 R XUEIEA 2.0
E6 R XUEIEA 2.0
E7 R XUEIEA 2.0
(X2 R E/N 2.0
B21 R AXIY 2.1
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B22 B R A5 2.1
B26 B R A5 2.1
B27 AR AV 2.1
B39 B R AR 2.1
B42 B R A5 2.1
B46 B R A5 2.1
B47 AR AV 2.1
B50 AR AV 2.1
B53 hR AXIYG 2.1
B75 hR AXIYG 2.1
B78 hR AXIYG 2.1
B81 hR AV 2.1
B20 hR AXIYG 2.2
B23 hR AXIYG 2.2
B28 hR AXIYG 2.2
B29 hR AXIYG 2.2
B30 hR AXIYG 2.2
B31 hR AXIYG 2.2
B38 hR AXIYG 2.2
B40 hR AXIYG 2.2
B41 hR AXIY 2.2
B48 hR AXIYG 2.2
B62 hR AXIYG 2.2
B64 hR AXIY 2.2
B66 hR AXIY 2.2
B67 hR AXIY 2.2
B68 hR AXIY 2.2
B73 hR AXIYG 2.2
B74 hR AXIY 2.2
B76 hR AXIY 2.2
B79 hR AXIY 2.2
B80 hR AXIY 2.2
B89 R AXIY 2.2
B90 R AXIY 2.2
E21 R XUEIEA 2.2
E22 R XUEIEA 2.2
71 Bh K EA1SFXEIES 2.2
72 Bh K EA4SFXEIES 2.2
&57 =R EXTVRAYE 44 0.56
73 th K EA4SFXEIES 2.2
74 th K EA4SFXEIES 2.2
75 th K EA4SFXEIES 2.2
76 th K EA4SFXEIES 2.2
77 Bh K EA4SFXEIES 2.2
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78 Bh R EASXEIA 2.2
79 Bh R EASXEI A 2.2
710 Bh R EASXEIA 2.2
711 Bh R EASXEI A 2.2
712 Bh R EASXEI A 2.2
713 Bh R EASXEIA 2.2
714 Bh R EASXEI A 2.2
715 Bh R EASXEIA 2.2
716 A EA4SFXEIA 2.2
717 R EA1SXEIA 2.2
718 R EASXEIA 2.2
719 R EA4SXEIA 2.2
720 R EASFXEIA 2.2
721 R EA1SXEIA 2.2
722 R EA1SXEIA 2.2
723 R EA1SXEIA 2.2
724 R EASXEIA 2.2
725 R EASXEIA 2.2
726 R EASFXEIA 2.2
727 R EA4SFXFEIEA 2.2
728 K EA4SFXEIES 2.2
729 K EA4SFXEIEA 2.2
730 K EA4SFXEIEA 2.2
731 K EA4SFXEIES 2.2
732 K EA4SFXEIES 2.2
733 K EA4SFXEIES 2.2
734 K EA4SFXEIES 2.2
735 K EA4SFXEIES 2.2
736 K EA4SFXEIES 2.2
737 K EA4SFXEIES 2.2
738 K EA4SFXEIES 2.2
739 R EA1SFXEIES 2.2
740 Bh K EA4SFXEIES 2.2
741 Bh K EA1SFXEIES 2.2
742 Bh K EA4SFXEIES 2.2
743 Bh K EA4SFXEIES 2.2
744 Bh K EA1SFXEIES 2.2
745 Bh K EA4SFXEIES 2.2
746 Bh K EA4SFXEIES 2.2
747 th K EA4SFXEIES 2.2
748 th K EA4SFXEIES 2.2
749 th K EA4SFXEIES 2.2
B24 R AXIY 2.3
B43 R AXIY 2.3
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B49 B R A5 2.3
B69 B R A5 2.3
B70 AR AXIY 2.3
B71 AR Ay 2.3
El B R FUEEA 2.3
E2 B R FUEEA 2.3
E8 B R FUEEA 2.3
E9 B R FUEEA 2.3
E10 hR XUEIEA 2.3
E1l hR XUEIEA 2.3
E12 hR XUEIEA 2.3
E18 hR XUEIEA 2.3
E19 hR XUEIEA 2.3
E20 hR XUEIEA 2.3
B25 hR AXIY 24
s hR oy 2.6
s2 hR oy 2.6
s3 hR oy 2.6
&58 = A EXSVRE 34 0.56
&59 =R EXTVRAE 34 0.56
&£60 =R EXSVRAE 44 0.57
N35 =R IhY 48 0.59
N42 =R IhY 48 0.59
N62 =R IhY 5.2 0.59
N10 =R IhY 38 0.60
N33 =R IhY 5.0 0.60
N38 =R IhY 48 0.60
&4 =R EXSVRAY 48 0.60
k16 =R EXSVRAYE 48 0.60
&7 =R EXTVRY 48 0.60
(X1 hR E/N 2.6
E13 hR FUEYEA 2.7
E14 R XUEIEA 2.7
E15 R XUEIEA 2.7
E16 R XUEIEA 2.7
E17 R XUEIEA 2.7
(&1 R o<y 2.7
&21 =R EXTVRAYE 48 0.60
&£23 =R EXTVRAYE 48 0.60
&28 =R EXTVRAY 48 0.60
£33 =R EXTVRAY 48 0.60
£36 =R EXTVRAY 48 0.60
42 =R EXTVRAY 5.0 0.60
k48 = EXTVRAY 5.0 0.60
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&49 =mA EXSVAY 5.0 0.60
&51 =mA EXSVAY 5.0 0.60
N5 =mA ohY 40 0.60
N8 =mA ohY 40 0.60
k18 =mA EXSVAY 48 0.61
&27 =mA EXSVAY 48 0.61
&34 =mA EXSVAY 48 0.61
&52 =mA EXSVAY 5.0 0.61
N58 = A ohY 5.2 0.61
&9 = EXSVRE 44 0.62
&15 =R EXSVRE 48 0.62
&30 =R EXZVRE 48 0.62
&37 =R EXSVRE 48 0.62
N22 = A ohY 42 0.63
&10 =R EXSVRE 48 0.63
&4 =R EXSVRE 5.0 0.63
N18 = A ThY 40 0.77
v = A TTINA 48 0.64
&4 = A EXSVRE 44 0.64
&19 =R EXTVRAE 48 0.64
&£22 =R EXSVRAE 48 0.64
&39 =R EXSVRAY 5.0 0.64
a4 =R EXSVRAY 5.0 0.72
ni =K P RVAJAES 5.0 0.65
&29 =R EXSVRAY 48 0.65
N3 =R IhY 44 0.66
&20 =R EXSVRAY 48 0.66
N7 =R IhY 45 0.66
&38 =R EXSVRAYE 5.0 0.67
£66 =R EXTVRY 45 0.67
&13 =R EXSVRAY 48 0.68
&26 =R EXSVRE 5.2 0.68
N32 E=% N TohY 5.2 0.69
£32 =R EXSVRAYE 48 0.70
N67T E=% N TohY 5.2 0.70
N23 E=% N TohY 42 0.73
&8 =R EXTVRAYE 48 0.73
&25 =R EXTVRAYE 5.2 0.73
&67 =R EXTVRAYE 6.0 0.73
N49 =K TohY 48 0.74
o7 = A RETA 5.0 0.74
&65 =R EYSVAL 5.0 0.77
N24 =K TohY 4.0 0.78
N34 =K TohY 48 0.80
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g4 = A 7YX 15.0 1.37
g3 = A 7YX 15.0 1.45
g5 = A 7YX 15.0 1.45
g6 = A 7YX 15.0 1.54
F1 = A FVES 11.0 1.58
g2 = A 7YX 15.0 1.72
g7 = A 7YX 15.0 1.91
gl = A 7YX 15.0 2.26
g8 =R 7YX 15.0 2.31
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15 EXR TIxIID 0.2 46

3 EXR WAV E S DY 0.3 25

57 EXR WAVESIAIDY 0.3 2.2

512 EAR RV E A DY 0.3 1.1

14 5N WAVE SV APV 0.3 20

1 EXR TIXIID 0.4 1.8

4 B WAV E S DY 0.4 0.5

6 EXR WAVE S DY 0.4 15.3

8 EXR AVESIAIDY 0.4 1.7

9 5N RV E AP 0.4 2.3

310 EAR WAVE SV APV 0.4 20

11 EXR TIXIID 0.4 22.5

B17 B WAV E AP 0.4 2.6

2 EXR AVESIAIDY 0.5 2.9

5 EXR AV E AP 0.5 0.8

%13 EN WAVE SN BV 0.5 25.0

416 EXR TIXIID 05 1.3

24 ER THLTHFIIT 0.5 0.7

V27 B ALY FIVD 05 2.0

18 hR AVESIAIDY 0.6 2.3 6.3
19 FR TUXRIIY 0.6 1.9 5.4
20 =l N WAVE S APV 0.6 2.1 5.8
421 bR R AP 0.6 14 5.4
22 R TIXUID 0.6 14 5.4
23 B WAVESIAIDY 0.6 15 5.7
24 FR AV E AP 0.6 1.4 5.4
25 K WAVE SV APV 0.6 15 5.7
426 bR TIXIID 0.6 1.7 6.4
27 th R TIxIID 0.6 1.7 6.4
428 R WAVE S DY 0.6 14 5.4
29 hR WAVESIAIDY 0.6 1.9 7.1
430 FR AV E AP 0.6 1.8 6.7
31 K WAVE SV APV 0.6 2.7 7.1
432 bR TIXIID 0.6 1.9 5.4
33 th R TIXIID 0.6 5.6 12.9
34 R WAVE S DY 0.6 5.7 13.1
435 FR AVE S DY 0.6 5.0 12.2
136 R RV E AP 0.6 5.9 13.3
37 =)/ N WAVE SV APV 0.6 49 11.2
438 th R TIXIID 0.6 48 11.0
439 hR WAV E S DY 0.6 48 11.0
%40 hR AVESIAIDY 0.6 14 43
41 AR TR IYT 0.6 1.3 4.1
42 R RV E AP 0.6 2.2 6.0
43 R WAVE SV APV 0.6 15 45
44 th R TIXIID 0.6 1.8 5.2
%45 R WAVE S DY 0.6 1.9 5.4
46 FR TR IYT 0.6 2.2 6.0
47 FR TR IIY 0.6 2.2 6.0
48 hR WAVE SV APV 0.6 1.9 5.4
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149 th R TIxIID 0.6 25 6.7
50 R WAV E S DY 0.6 25 6.7
451 FAR TR IYT 0.6 2.2 6.0
452 R RV E A DY 0.6 2.0 5.6
453 hR WAVE SV APV 0.6 1.2 4.7
154 thR TIXIID 0.6 14 5.4
455 R WAV E S DY 0.6 1.8 6.7
456 hR WAVE S DY 0.6 1.5 5.7
57 R AVESIAIDY 0.6 14 5.4
458 R RV E AP 0.6 1.2 4.7
59 R WAVE SV APV 0.6 1.9 7.1
160 th R TIXIID 0.6 1.8 6.7
61 R WAV E AP 0.6 1.6 6.0
462 FAR TR IYT 0.6 1.7 6.4
463 FR TR IIY 0.6 1.8 6.7
64 hR WAVE SN BV 0.6 1.9 7.1
165 R TIXIID 0.6 2.0 5.6
166 R TIXUID 0.6 1.7 6.4
67 R WAVESIAIDY 0.6 1.7 6.4
468 FR AVESIAIDY 0.6 1.8 6.7
469 FR TUXRIIY 0.6 1.6 6.0
370 hR WAVE S APV 0.6 15 5.7
vl R R AP 0.6 1.8 6.7
U1 R THALTHFIIT 0.6 2.2 6.0
V2 R ALY FIVD 0.6 2.0 5.6
%25 hR TFALTHFIIT 0.6 1.4 43
28 hR X LZHFIID 0.6 6.2 12.3
Y31 R ALY FTIVD 0.6 10 40
V32 th R AH LY FIVD 0.6 1.0 4.0
33 R THLTHFIIT 0.6 1.0 4.0
34 hR THALTHFIIT 0.6 1.0 4.0
26 hR TF LT FIIT 0.7 2.3 6.9
30 hR X LZHFIVD 0.7 1.1 49
V3 R TH LTIV 0.8 1.0 4.2
V4 R ALY FIVD 0.8 1.0 4.2
V5 FAR TH LY FIID 0.8 1.0 4.2
6 AR A LS FIID 0.8 8.9 22.1
8 hR THLTHFIIT 0.8 1.0 4.2
Y11 R ALY TIVD 0.8 4.6 11.9
Y12 th R AH LY FIVD 0.8 35 9.5
Y13 R ATHLTHFIIT 0.8 35 9.5
12 FAR A5 0.9 0.7 4.6
Y7 AR A LS FIID 0.9 1.0 46
V14 hR X LZHFIVD 0.9 1.0 46
16 R ALY TIVD 0.9 1.0 46
Y29 th R AH LY FIVD 0.9 2.0 7.4
V35 R ATHLTHFIIT 0.9 1.0 55
/36 hR THALTHFIIT 0.9 1.0 55
37 hR THA LT FIIT 0.9 1.7 6.6
38 hR ALY FTIVD 0.9 1.0 55
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39 th R ALY FIVD 0.9 1.0 55
40 R THALTHFIIT 0.9 1.0 55
41 hR THLTHFIIT 0.9 1.0 5.5
42 R X LZHTIVD 0.9 1.0 55
43 hR ALY FTIVD 0.9 1.0 55
Y44 thR ALY FIVD 0.9 10 55
V45 R THLTHFIIT 0.9 1.0 55
46 R TH LT FIIT 0.9 1.0 5.5
78 R TAY7 1.0 2.6 9.8
T12 hR TA)F 1.0 25 9.1
714 R TA)F 1.0 45 15.5
715 th R TA)F 1.0 6.8 22.4
716 R TRY)F 1.0 1.9 8.4
717 hR TAR)F 1.0 2.8 10.4
718 hR FAR)F 1.0 3.0 11.0
719 hR TA)F 1.0 27.0 83.0
w10 R ALY FIVD 10 1.7 7.1
W15 R THLTHFIIT 1.0 14 6.2
V22 R A LTHFIIT 1.0 6.3 20.3
23 hR THLTHFIIT 1.0 4.7 15.1
79 hR FAR)F 1.1 1.9 9.4
713 hR TA)F 1.1 2.1 8.9
V18 R ALY FIVD 1.1 15 7.0
w19 R THALTHFIIT 1.1 2.1 8.9
20 R A LTHFIIT 1.1 25 10.2
w21 hR TFALTHFIIT 1.1 2.5 10.2
75 hR TA)F 1.2 1.8 8.8
711 R TA)F 1.2 25 10.4
V9 th R AH LY FIVD 1.2 20 9.2
T R TANY7 1.3 24 11.2
71 hR TA)F 1.4 2.1 10.8
72 R TA)F 1.4 2.1 10.8
73 hR TA)F 14 2.1 10.8
74 R TA)F 14 2.1 10.8
76 th R TA)F 14 1.6 9.4
13 R AXIY 1.6 1.8 10.8
11 AR AR5 2.0 29.0 149.0
710 hR TA)F 25 1.2 12.2
Y17 R ALY TIVD 10 48 57.6
1 & DA 327.1

Z2 P ITAN 157.7

Z3 a3 N 65.9

Z4 = ITA 137.9

Z5 T E D7 2.9

6 & D7A 51.5

=7 a3 N 6.7

Z8 A= ITAN 5.3

29 a3 N 5.3

Z10 a3 DZA 6.7

Z11 & D7 38.6
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No TR fiTE = (m) mEiE(m) AR EE(m) =
Z12 & DA 11.4
Z13 & DA 9.6
Z14 a3 N 9.7
Z15 & N 9.6
=16 & D7A 9.0
Z17 & DA 9.6
Z18 % A 9.7
Z19 <& DA 9.6
220 a3 N 9.7




